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The suggested retail price
of a new hybrid car is p
dollars. The dealership
advertises a factory rebate
of $2000 and a 10% —
discount. 4}(@: P~ A000 ¢ »/
g(p)= 9 |




Notes 2-6 Combinations of Functions

1. Sum: (f + 2)(x) = f(x) +2(x)
2. Difference:  (f - 2)(x) = f(x) - g(x)
3. Product: (f2)(x) = flx)g(x)

4. Quotient: (f)(x) f(x)_)g(x)¢()
g(x)
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Ex1 Ax)=x"+3xand g(x)=4x- 1.
Find the following.

a) (f-gx)=x~ + 3% — (43(,—0

= X A

b ()= (¥ *3w7<,~ )

2y gw—

) (D= Yyzx , uy |




f=vx  gx)=A-X

X=Z0 ALt

find JE*‘) = Yx e win
9 E= =

4- " O < XL
find 2= —7



The composition of the function f with the function g is
Jog=(fog)x)=f(g(x))
Ex 2 f(x)=/x+4 and g(x)=x>

K -4 AU Rs = XE= -4

Find the following:
a) ng;P(ﬁLK\\ = () ra = i,
X=-4

v 8 /2qE0N= (GeT) = x4, x24

Domain?



f(x)=x+4 and gXx)=x’

domain of f(g(x))?

domain of g(f(x))?



The suggested retail price
of a new hybrid car is p
dollars. The dealership
advertises a factory rebate
of $2000 and a 10%
discount. F(®)= 52000
4= .9,

%Cp\\-—-(,q{h-aooo = Ap-20t0
Q)= a( 9-200‘5 = 99~ 1%
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Find two functions f and g
such that ( f - g)(x) = h(x)

h(x) = (1-x)’

L= ¢ 2 £6= (%)
g W)= [-x 9(x)= X

'C(g){\\:(\ - xg £ @(x\\:((- (% ﬁ
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HW: Pg. 238
# 8-11, 17-21, 36-42 evens,
48, 49, 63
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